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1. SimptifY 51/3x 5v3.

2. What is an equation ?
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(6x1=6)

v semester B.A. Degree (C.B.C.S.S' - o.B'E. - Regular/supplementaryl

lmproiement) Examination' November 2A23' 
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CORE COURSE IN ECONOMICS/DEVELOPMENT ECONOMICS

5807 ECO/DEVECO : Basic Tools for Economic Analysis - l
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PART - A

Answer all questions. Each carries one'mark', '

S. Desc'iibe the linear function' -"'

4. Define absolute frequency.. ' - - 
u 

.'.,-- t'a;',,'u -.

5. Whai is meant bY Kurtosis ? 
0,, +'

6. Describe equally likely events' 
I i, **;' t:t * . . 

'

l'' "*:' ""=' *",,,-,;H[,p -'- 
-',t'- -

Answer any six questions' Each carries two marks'

7. Find the sum of the 10 terms in the series 1' 3' 9' 27 ' ' ' '

B. lf an investment grows at a compound annual growth rate of 57", starting with

an initial value of Rs. 10,000, what will be the value of the investment after

5 Years ?

9. Distinguish between equal set and equivalent set'

10. Define the cost function and give an example'
P.T.O.



K23u 2212

-z-

1

d draw frequency

\ lllltl\Il\tlltfi ll\l il\lllllllllll$Ill\l\lll 
llll

(6x2=12)

Portant 
measures o{ DisPersion'

t i. t-ist ou\the imponattt l,vs--" 
. ,r- - rara

: :il*T::T:ffi*,o, the data set 3, 7's' 4'5' 4' 6' 7 and e

: :::: '':::::]l.]-i""'ou 
what arethe probab*ities or gettins

a) a sPade

b) a btack card and

c) a King or a Queen'

19. De

or{ian for"'tht
+att..rwino dara'

-56-: oo 60-70
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po$gon tor the followingtata'

rine frequency polygor an
6-o -zo

51-o - so 50-60

-20 - 3o
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To-L !rv
20 10

Class .

FreqqgltcY-
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20. Axiomatic approach o{ probabil$ theory'

(4x3=12)
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PART _ D

nirs#r any two questions. Each carries five marks.

21. Solve for x, Y and z

Zx-Y +z=3,
x+3Y-22=11
3x-2Y+42=1

..., l,;, ,..ri:._..

22. Describe the fundame-n-tal concepts oi retbr{1,1s ar{fl;:rl#nctions highlighting

(2x5=10)
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